Math 308 Quiz 6
June 15, 2015

Name: ANS\NG ES

Instructions: Answer all problems in the space provided. Show all work.

1. leta,b € Z a # 0. Prove that a|lb = a?|b?. (4 points)
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3. Letm,n € Nwithm = 2 and m|n; a, b € Z. Prove that if a = b (mod n), then a = b (mod m). (5 points) ,,f
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Bonus problems:

1. Use the triangle inequality to prove that |x| — |y| < |x — y| forx, ¥y € R.
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2. Adirect proof of P = Q involves: 1) Assume P is true, 2) Show @ is true as a consequence. What does a proof by
contradiction of P = @ involve?
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